
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 

Friday, 9/22 I

conditional probability :
Complementary events

Let B be any
event

,
and let B'be

its complement (meaning everything in the sample
space by Bla

Then either B or B must happen, but bothcan't
. So , for any

event A
,
to
say A happens

is to say either AB or AB happens , bu not
both . So

P(A) = P(AB ~ A BY) = P(AB) + P(ABY.
So
, by (X3)

P(A) = P(B)P(A)B) + P(BYP(A)BY W

cle
. A large jaw is filled with Y blue andExamy

43 red marbles . 3/8 of the blue marbles are
marked with a "W

,

" and Y of the red Ones
are. You win if you pick a "W" marble .
What is P(wcal ?

Solution .
A : win

B : draw a blue .
C

:

draw a red.

Note that =B, so by (i),

P(A) = P(B)P(A(B) + P(C) P(AIC)

= 5 : 8+ = : + = 8 + = 0. 2917 = 29. 177 .




